Multiply by powers of ten (missing number)
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Name: Date: Score:
10.268 x = 10268 1.81 x = 181
2.426 x = 2426 10.852 x = 108.52
3.457 = 3457 6.744 x = 067.44
9.289 x = 9289 3.696 x = 3696
9.676 x =96.76 6.971 x =697.1
7.285 x =728.5 4.101 x =41.01
1.573 x =15.73 5.433 x = 5433
4.507 x =450.7 2.23 x =223
2.904 x =2904 2.729 x = 2729
2.257 % =225.7 1.894 x =189.4
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e € 3 9
M % Multiply by powers of ten (missing number)

Name: Date: Score:
10.268 x 1000 = 10268 1.81 x 100 = 181
2.426 x 1000 = 2426 10.852 x 10 = 108.52
3.457 x 1000 = 3457 6.744 x 10 = 67.44
9.289 x 100 = 928.9 3.696 x 1000 = 3696
9.676 x 10 = 96.76 6.971 x 100 = 697.1
7.285 x 100 = 728.5 4.101 x 10 = 41.01
1.573 x 10 = 15.73 5.433 x 1000 = 5433
4.507 x 100 = 450.7 2.23 x 100 = 223
2.904 x 100 = 290.4 2.729 x 1000 = 2729
2.257 x 100 = 225.7 1.894 x 100 = 189.4
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